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ETAS GmbH 
Borsigstraße 14 
70469 Stuttgart 

Tel.:+49 (711) 8 96 61-102 
Fax:+49 (711) 8 96 61-106 
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ETAS Inc. 
3021 Miller Road 
Ann Arbor, MI 48103 

Tel.: +1 (888) ETAS INC 
Fax: +1 (734) 997-94 49 
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ETAS K.K. 
Queen's Tower C-17F, 
2-3-5, Minatomirai, Nishi-ku, 
Yokohama, Kanagawa 
220-6217 Japan 

Tel.: +81 (45) 222-0900 
Fax: +81 (45) 222-0956 
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ETAS S.A.S. 
1, place des États-Unis 
SILIC 307 
94588 Rungis Cedex 

Tel.: +33 (1) 56 70 00 50 
Fax: +33 (1) 56 70 00 51 
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ETAS Korea Co. Ltd. 
4F, 705 Bldg. 70-5 
Yangjae-dong, Seocho-gu 
Seoul 137-889, Korea 

Tel.: +82 (2) 57 47-016 
Fax: +82 (2) 57 47-120 
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ETAS UK Ltd. 
Studio 3, Waterside Court 
Third Avenue, Centrum 100 
Burton-upon-Trent 
Staffordshire DE14 2WQ 

Tel.: +44 (0) 1283 - 54 65 12 
Fax: +44 (0) 1283 - 54 87 67 

����
��� 	���
��

�





�

�

������������	
���� ��
��
�������
�	� ��

��
��
�������
�	�

��������������������������� �!�"

����# ����������!�

�����$���%�����������

&$� '�� � $(�  #��� �$�	)�� � )�*� +�� ��'�$�	���� ,� #$	 �  #�� '��$�� ,��  ���
�$���� � $(� ������������ � �!� � -#�� �$( ,���� ������+��� ���  #��� �$�	)�� � ���
(	����#���	�������
�����������)�*�$�
*�+��	����$���$'����������$�������,� #�
 #�� ��)��$(��	�#���
������!�

�
����
�	��

-#�� ��($�)� �$�� ���  #��� �$�	)�� � ��� �	+.�� �  $� �#����� ,� #$	 � �$ ���� ����
�$��� �$ � ��'����� � �� �$))� )�� � $�� ��*� '�� � $(� �����������!� � /#�
��  #��
��($�)� �$���$� ������#������������	)��� $�+�����	�� �0����������������	)���
�$����'$���+�
� *�($����*����$���$��$)����$��!�

1���$����� ��#�

������������0� � ���)'
$*���0� � ���$� ��� $���$�� #���	 #$���$(�
 #����$�	)�� �+��
��+
��($���'����
0������ 0�������� 0�$���$���2	�� ��
���)���0�

$����0��$� �0��#�����0��
��)�0���)����0��
��)�($��
$� �'�$(� �0�(����$���3'������
$(���*��� 	���$��4���!�

����	������

%-"�56�7��������������������� ����)��4��$(�������������� �!�

/���$,�������6��56����� ����)��4��$(�����$�$( �8$�'!�

56�7���9������ ����)��4�$(�6��)����"�!�

"

� $ #��� '�$�	� � ��)��� ����  ����)��4�� $�� ����� �����  ����)��4�� $(�  #����
���'�� ����$,����!�
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-#��� �	���� '�$������ '$� � �'���(��� ��($�)� �$�� ($��  #�� �
�����������

��
�)'
�)�� � �$��$(������������C�%-"�56�7!���

"�'$� � �����(�����������'���(��� ���� �)���$�$� �$

��� ���� � $$
�#����'������!��
-#��� �	����  �

�� *$	� �+$	 � �� ���� �$�� ���	���,� #� *$	��  ���� �  $$
�#��������
���	���  #� � *$	� �����  $� +�� �,���� $(�,#��� 	����� %-"�56�7� $�� *$	��  ���� �
#���,���!� � @$� � �'���(��� '���)� ���� $(� �)'
�)�� � �$�� ���� �
�$� '�$�����0�
�������  #�� %"�� ���� %5�� ��2	���)�� �� ($�� ���#� $+.�� � ���  #�� %-"�56�7�
8$)'$��� � ���� �3��	 �$��  �)��� ($�� ���#� "@1� ��

�  $�  #�� %-"�56�7�
8$)'$��� !�

����  ���!������"	�����
����
�	#�

1 � ��� ���	)���  #� � *$	� ���� �� ����
$'��!� � D$	� �#$	
�� �����  #��� �	���� �(� *$	�
,�� �  $� 4�$,� 
$,�
���
�  ��#����
� ��($�)� �$��  $� �� ���� ��  #�� %-"�56�7�
8$)'$��� ��� $�*$	���''
��� �$�!�

��$� ���%	��
����

&�
������'�&$ ���  #� � �''���� 
�4��  #��� �$� ���� �)'$� �� � ��($�)� �$��  #� �
*$	������ $�+���,����$(!� ���4���	��� #� �*$	������ #�)�����(	

*����� #� �
*$	�($

$,���*���� �	� �$��� #� �*$	����������!�

(�����
�
��'�&$ ��� #� ��''���� 
�4�� #���������+�� #����� #� �*$	�,�

������ $�
4�$,��(�*$	�,�� � $�,�� ���$��� #� �,�

�,$�4�$����*�'�$����$���	������ #��
%-"�56�7�8$)'$��� !�

1�� #����	����*$	C

����� #� �'�$���)��$��0�#������(�
����)��0�8� *'����)��0�8�
(	�� �$�������%-"�56�7�"@1���

���)����

��''������� #��courier� *'�(���!��
/#��� #����)��$(����$+.�� ����)��������
�+
�� $� #��'�$���))��� #����)��
�
�$��''�������� #��courier� *'�(���0��$0�($���3�)'
�0��� ��4���)���-��4��
�''���������� ��4�#���
����

���Task1!�
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$� �������
��&���	��

1�� #����#�' ��0�*$	C

����� #���)'$� �� ��� ��
�� #� �*$	������ $�4�$,��+$	 �
%-"�56�7�����*$	�� $$
�#���!��"�'$� �$(� #��%-"�56�7�8$)'$��� �����'���(���
 $�+$ #� #�� ���� �#���,�������� #���$)'�
��� $$
�#���!��D$	�)	� �)�4���	���
 #� �*$	�+	�
��*$	���''
��� �$��,� #� #��� $$
�#���!���

1(� *$	����� �� ���� ��� ���	���������((���� ������$��$(�  #�� ��)��  $$
�#���0� *$	�
�#$	
���$� �� ������������� $��$�(��)�,#� #���$���$ � #������'$���+
�!�

$��� ���

�	��

-#��%-"�56�7�8$)'$��� �,���+	�
 �	����� #��($

$,�����$)'�
����
 

����$�� ��������

��6$( ,���0�1��!�
8$)'�
��� ���
����
�����$�� =!�!;"�

 

-#�� ���$))������ �$)'�
��� $' �$��� ($�� �''
��� �$�� �$��� ���� �#$,�� ���  #��
($

$,���� �+
���

 

*
�
��� �	���

�
���
-O ?���$' �)�B� �$���
-noobj -	���$((�+����*��$��������� �$��
-r21has65535 �����
,�*���$� ��������0������
,�*���$� ��������<��

 

-#��8�(�
�� #� �%-"�56�7������� ���(�$)�*$	��51���$�(��	�� �$��(�
�������

���
osekdefs.c!� � -#��� (�
����(����� �$�(��	�� �$��'���)� ���� ($��  #��%-"�56�7�
8$)'$��� �,#����	������*$	���''
��� �$�!�

-#�� ���$))������ �$)'�
��� $' �$��� ($�� osekdefs.c� ���� �#$,�� ���  #��
($

$,���� �+
���
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�
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-O ?���$' �)�B� �$���
-noobj -	���$((�+����*��$��������� �$��
-r21has65535 �����
,�*���$� ��������0������
,�*���$� ��������<��

 

-#��'�$#�+� ����$)'�
���$' �$���($��osekdefs.c������#$,����� #��($

$,����
 �+
���
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�
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�
���
-g ��+	��
-ZDA ?���E�"�
-sda ?���6�"�
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$�$� ���	���	��

-#��%-"�56�7�8$)'$��� �,���+	�
 �	����� #��($

$,��������)+
����
 

����$�� ��������

��6$( ,���0�1��!�
"���)+
��� ���
����
�����$�� =!�!;"�

 

-#������)+
*�(�
�� #� �%-"�56�7������� ���(�$)�*$	��51���$�(��	�� �$��(�
�����
��

���osgen.850!� � -#��� (�
�� ��(����� �$�(��	�� �$��'���)� ���� ($��  #�� %-"�
56�7�8$)'$��� �,#����	������*$	���''
��� �$�!�

$��� ,
��	�-,�������

1������ �$�� $� #����� �$���	����+*��''
��� �$���$��0� #��($

$,����%-"�56�7�
��� �$���)	� �+��
$�� ����

 

!	��
���� "��-"��� �	���

�
���
os_pid %5�� %-"�56�7������$�
*��� �!�
os_pird %5�� %-"�56�7���� ��
�B� �$���� �!�-#������$�
*�

����������	�����6 �� 56FG!�

os_intvec %5�� ��� $�� �+
��F�(������� ���+*�%-"�56�7G�
os_text %5�� %-"�56�7��$������ �$�!�
os_pir %"�� %-"�56�7���� ��
�B����� �!��	� �+����� ��
�B���

�	�����8�� �� 	'!�

os_pur %"�� %-"�56�7�	���� ��
�B����� �!��	� �+��B��$���
�	�����8�� �� 	'!�

os_pirf %"�� %-"�56�7�	���� ��
�B����� �!��	� �+��
��� ��
�B����	�����8�� �� 	'!�

 

-#�� ($

$,���� �$)'�
��� �	�� �)�� 
�+���*� (	�� �$��� ���� ��2	����� +*�  #�� %-"�
56�7�8$)'$��� ��

 

��,
������.����
���� �	���

�
���
setjmp 6����� #���	���� �� � ��$(� #��'�$���)!�

F?����($��#���*,���# � ��4� ��)��� �$�!G�
longjmp %�� $����� ��4������$�)�� ������3��	 �$��
$��
�!�

F?����($��#���*,���# � ��4� ��)��� �$�!G�
 

$��� �	����	��

5%-1���� #��56�7�%	��-�)��1� ��(���� #� �����	''$� ���+*�%-"�56�7!��6	''$� �
��� '�$������ ($��  #�� ��+	������ ���  #�� ($

$,����  �+
�!� � >	� #��� ��($�)� �$��
�+$	 �5%-1�($��%-"�56�7�����+��($	������ #�������	
�����
������!�
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*"�&����
��
��	��	����	���
iSYSTEM winIDEA 

 

-$� ���$
���  #�� 5%-1� �� �� ���  #�� ��+	�����  #�� (�
�� osekdefs.c� )	� � +��
�$)'�
���,� #��/"%>���+	�� ��($�)� �$�������� ��� ���  #��$+.�� � (�
�!� � -#��
�$)'�
��� $' �$��� �g -dual_debug -dwarf� ������ ��  #�� ��2	�������+	��
��($�)� �$�!�

-$� ���$
���  #��CURRENTSERVICE� ����CURRENTAPPMODE� ��
	������� �$��
�
%5��'$�� ���������������� $�osekdefs.c!��1(� #������
	��������$ ���2	�����
 #���  #��)���$�OS_NO_ORTI� �#$	
��+����(�����,#���  #�� (�
�� ��� �$)'�
��0�
�
�$��$���+	������#$	
��+����
�� ������ #��%-"�56�7��?1!�
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�

������������	
���� ����	��0���1��	�&���	�� ���

�� ����	��0���1��	�&���	��

���� &��	���
���

-#������ �$���3'
����� #���)'
�)�� � �$��$(�%-"�56�7C���� ���	' �)$��
!�D$	�
���� (���� $	 � )$��� �+$	 � �$�(��	����� �� ���	' �� ($�� %-"�56�7� ���  #�� ����
�	
������������!�

������ &��	���
��,	%	���

1��%-"�56�7��� ���	' �������

$�� ������1� ���	' �@��$�� *�����
�F1@�G!��-#��������
'�$����$������'����� ��+� ��� �$��$(� #���� ���	' �'��$�� ���� #� ���������
�+
��
$�� #�� ���� �#���,���!��D$	�����(����$	 �)$����+$	 �1@������ #�������	
��
����������!��-#��#���,������ ���	' ��$� �$

�������3'
��������� #��������������
�
���������!���

-#��($

$,���� �+
���#$,��#$,�%-"�56�7�1@�����
� �� $��� ���	' �'��$�� ����$��
 #�� ���� �#���,�����

 

&(,�2���	� &��3
��(! �"	�
��	�� �	���

�
���
�� �� ?����
���
�
�� �� 8� ��$�*���������)��4�+
���� ���	' �!�
�� �� &�1�0��3��' �$�������-%"@��

F����'���)' �)��4�+
���� ���	' �G!�
 

����$� &��	���
��2	������

>$��  #�� �

$�� �$�� $(� 8� ��$�*� �� ���� 8� ��$�*� �� �� ���	' � #���
����  $�
�� ���	' ���� $���$��*$	�� ���� �#���,���0� #��($

$,������� ��� �$����''
*��

 

2	������ "	���
��
���
�3����� $��3��;�� 8� ��$�*��0�1@����
�3��
�� $�)�3�)	)���� $��($��8@?������� � 8� ��$�*���$���0�1@����

 

-#����
���+��������������($�� #����� $�� �+
�������
 

�3����� -#����� $�� �+
��)	� �� �� �.	� ��+$��� #������ ���� $�!�
 

������ ���	�������0����	���

8� ��$�*����� ���	' ����������$	 �����F16%�G�)	� ��$���� 
*�#���
�� #���� ���	' �
�$� �3 � #�)��
���0�,� #$	 ��	''$� � (�$)� #��$'��� �����*� �)!��-#��������
��

�� 6$( ,���� 1��!� 8� �$)'�
��� ���� ������ �� �''�$'��� �� �� ���	' � #���
����



<!
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�

�$� ����	��0���1��	�&���	�� ������������	
����

�$��� ($����8� (	�� �$�����$�� ���,� #�  #��__interrupt� (	�� �$��2	�
�(���!��
D$	�����(����$	 �)$������*$	���$)'�
����$�	)�� � �$�!�

������ ���	�����$�0����	���

8� ��$�*� �� 16%�� ���� '�$������ ,� #� �� 8� (	�� �$�� �$� �3 � +*�  #�� %-"�56�7�
8$)'$��� 0� ������  #�� %-"�56�7�8$)'$��� � #���
���  #�� �� ���	' � �$� �3 �
� ��
(!� �-#��#���
��������,��  ���	����� #��56�7�56�� �������ISR()�)���$0�
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#include “MyISR.h” 
ISR(MyISR) { 
  /* Handler routine */ 
} 
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asm void set_PSW(ByteType m) { 
%reg m ; 
 ldsr m, PSW ; 
%error 
 Macro has not expanded  
} 
 
asm ByteType get_PSW(void) { 
 stsr PSW,r10; 
} 
 
__interrupt void sync_isr(void) 
{ 
 register ByteType psw_val = get_PSW(); 
 
 DisableAllInterrupts(); 
 ... 
 EnableAllInterrupts(); 
 
 set_PSW(psw_val); 
} 
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ChainTask(T1);

H� P�

Idle Task
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Task T1

Task T2
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Alarm activates T2

Non-�
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TerminateTask();
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M�

Task T1�
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Task T2
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WaitEvent(E1);

SetEvent(T2,E1);
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Interrupt Asserted�

TerminateTask();�
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